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(a) Using an appropriate trigonometric identity, show that
Rsin(8 +a) = Rcosasinb + Rsinacos§
where R and a are constants.
[21
(b) Hence show that 3sin 6 + 2 cos 8 = VT3 sin(6 + 0.588).

31

conpoond angle

sia (A*8) = ¢iaRwsB + cosAsinB t Lot

Ose s ot Az 8 ol B=4

Riim(B2d)2 R(5aB ces +cosB gaa)

2 Road cosd + Rees B ying

Ressusind * Rovnu cos8

n

]




image7.png
(a) Using an appropriate trigonometric identity, show that g
From pact (o)
/
Risia (B *o() = Reosd 5108 * Rsina oy D

L ol e “E“( To B20mB* 2ees® 1
“ Reosd = 3 amd Relwuz 2

Rsin(8 +a) = Rcosasin® + Rsinacos

where R and a are constants.

(b) Hence show that 3sin# + 2 cos# = V13 sin(f + 0.588).
131

RPeosqz q wnd Rguts=
= R osta + R«si‘fi =D

oy R (eestak 5‘..«‘.(): NOPRE-S
So RV 1D = R={B

2 -l Rmd ’;—“i:t-«d

:
3
§
%

> Roussel s
= 4= t.f(%); 0.529061...
0.533 (3:7)

Tlarefure
B3 5inB+ 2eos B2 [i7 giu (B o.sss)





image8.png
Use appropriate double angle formulae to solve the following equations in the given
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(a) (i) Show that R cos(x +a) = R cos @ cosx — R sinasinx, where R and @ are
constants.

(if) Use your result from part (i) to show that cosx —v3sinx = 2 cos (x + ’zl)

(b) Hence solve the equation cosx — V3sinx = 1for0 < x < 2m.
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(a) Using the identities

sin(4 + B) =sinAcosB +sinBcosA and
c0s24 = 1-2sin? A

show that sin 34 = 3sin A — 4sin’ A

(b) Hence, or otherwise, solve the equation
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(a) Using the identities

sin(4 + B) =sinAcosB +sinBcosA and

cos24 = 1-2sin? A

show that sin 34 = 3sin A — 4sin’ A

(b) Hence, or otherwise, solve the equation

1
3sin® — 4sin6 = -m<6<m
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() Show that 5 sin 6 + 12 cos & can be written in the form R sin(8 + a) where R > 0
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() Show that 5 sin 6 + 12 cos & can be written in the form R sin(8 + a) where R > 0
and 0° < a < 90°
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Label any points where the graph intercepts the coordinate axes.
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Show that 2 cosec 24 = cosec A sec .
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Prove by a counter-example that sin(4 + B) = sin 4 + sin B is not true in general.
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Ton &+ Tan 8 Compound angle
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(a) Express tan(210°) in terms of tan(180°) and tan(30°).

(b) Hence show that tan(210°) =
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(a) Starting with the identity
<05(A+ B) = cos A cos B = sin Asin B

and using the substitution B = 4, show that cos 24 = cos® A — sin® A.
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(b) Hene, or otherwise, show that cos24 = 1~ 2sin? A,
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(a) Starting with the identity
<05(A+ B) = cos A cos B = sin Asin B

and using the substitution B = 4, show that cos 24 = cos® A — sin® A.
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(b) Hene, or otherwise, show that cos24 = 1~ 2sin? A,

[21

Fsavemyexams

L)

m
—

2
i A+ cos A

Gl B e Az |
=5 ot Az 1-sia"A
Eeom gb\rt ("*>,

ces LA = Lb}i A - siw” A
o (B - s
Tc\mj"'ﬁ

cos 2ZAE 1~ 2sia"R





